Delhi Public School, Gwalier
Class -V
Subject — English -
Model Evaluation Paper
Time- 1 Hr. 30 min.
Name Sec Roll no Date

Section — A (Reading)

I Read the following passage carefully and answer the questions that follow:

Arun Gandhi was just 16 years old when he drove his
father to a town to attend a meeting, 30 km away from

home. While waiting for his father, he had his car

repaired and found he had ample time lefl on hand.

Slipping into a theatre to while away the time, he got
deeply engrossed in the film and when he finally looked
at his watch, he realized that he was thirty minutes late.
He rushed to his father who was waiting anxiously for

him. As an excuse for his delay, he told his father that the

repair work had taken longer than expected. Arun’s
father knew that his son was lying for he had already
contacted the garage. However, he did not scold Arun
because he felt that he was at fault for not giving his son
enough confidence to tell the truth. He told Arun that he

wished to walk alone for a while. For almost four hours

he walked while Arun followed in the car. There were no
street lights and the road was rough. When Arun saw the
agony his father was going through because of his lie, he
realized his mistake. If his father had scolded him he

wouldn’t have taken it too seriously. But now he knew

what he had done and decided never to lie again.
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Q.1  What two things Arun did while his father attended the meeting?
Ans.

Q.2 What excuse did Arun give to his father for his delay?
Ans.

Q.3 Tick the correct option

(a) How old was Arun when he drove his father to the town?

(1) 10 years (i1) 20 years (111) 16 years (iv) 35 years
(b) He drove away from home.
(1) 30 km (i1) 50 km (ii1) 1 km (iv) 100 km

(c)  Arun’s father wished to

(i) go on alongdrive. (i1) walk alone for a while.

(iii) drive the car. , (iv) stay overnight in a hotel.

(d)  Arun’s father walked for

(1) almost four hours (i1) exactly 30 minutes

(ii1) two hours (iv) one and a half hour

Q.4  State whether True or False.

(a)  Arun’s father scolded for telling a lie.

(b)  Arun decided never to lie again.
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Q.1

Read the following poem and answer the questions that follow.

A grandmother has a special talent -
She always knows just what to do
To make her grand children happy

And to show she loves them, too.

At the family get — togethers,
She’s the first person to look for-
She can entertain small children for hours

And they always keep asking for more.

You can tell when a grandmother’s teasing
By the twinkle that shines in her eyes-
She’s an expert at settling problems,

For she’s loving, patient and wise.

Her grand children always admire her, .
Even when they are grown —
They always feel proud and happy

To claim Grandmother as their own!

Fill in the blanks with reference to the poem.

The poet says that the

happy. She can

has a special talent to make her

small children for

hours. The grand children always

her, even when they

are grown.
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Q2

Q3

111

Match the following.

1. The first person to look for . . setting problems
2 She is an expert at admire her

3 She can entertain small children is Grandmother
4. Her grand children always for hours

Give a rhyming word from the poem.

(a) rice>

(b) phone—>

Section B (Writing)

(A) Write a formal letter to the Principal of your school requesting him to add

volleyball as a sport in the curriculum.
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(B) Write a “Book Review” of your favourite book.

My Favourite Book
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Section —C (Grammar)

IV~ Do as directed:
Q.1 Fill in the blanks using the conjunctions mentioned in the brackets.

( for, and, neither-nor, but, either-or, yet, so)

(a) The shopkeeper sells oranges bananas.
(b)  Run fast you will miss the train.

(¢) Rahul is slow he is steady.

(d)  Maitri is crying she has lost her pen.

(e) Keerti has lost the book she must pay a fine.
(f) Heabusedme  1did not punish him.

(g) Kratika is sad she could not win the sack race.
(h)  Ravi will succeed he is hardworking.

(i)  The dish was tasty healthy.

(j)  She drives fast : carefully.
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Q.2 Change the following sentences into indirect speech.

(a)

(b)

(c)

(d)

(e)

Vedika said, “You made a beautiful bag.”

Teacher said, “Blue whale is the largest mammal.”

My mother said, “Father returned home early.”

The turtle said, “Slow and steady wins the race.”

The commander informed, “Ramesh is a brave soldier.”

Q.3 Write a suitable question tag in the blanks provided.

(a)

(b)

The players are tired : ?

We will watch the movie ?
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Q.4

(c)

(d)

(e)

(M

(2)

(h)

()

Q)

Reena is going to Mumbai tomorrow i

You wanted to play cricket ' ?

Aryan is not ready for the party 2

I am a good singer Vg

We are not going to Goa ?

My mother is not feeling well

Raghav’s elder brother is nol an engineer

Girls can rest here for some time ?

Change the following sentences from active to passive voice.

(a)

(®)

©

(d)

Active - He invites all his friends to the new year party.
Passive -

Active - She has completed the project.

Passive -

Active - A thief stole my necklace.

Passive -

Active - I will buy a beautiful dress.

Passive -
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(e) Active - We played a good match.

Passive -

Section — D (Literature)

Read the following extracts and answer the questions that follow.
(A) “Our Raoul flies in the sunlight.”

(a)  Which lesson is the above extract taken from?

Ans.

(b)  Who is talking to whom?
Ans.

(c)  Why did Raoul fly in sunlight?
Ans.

(d) Isitvery strange that Raoul flies during sunlight, why?
Ans.

(B) “Relax your hands, dear man.”

(a)  Which lesson is the above extract taken from?

Ans.
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Vi

(b)  Who said this to whom?
Ans.

(c)  Why did the speaker say the above line?
Ans.

(d)  Why did the farmer keep his hands like that?
Ans.

Answer the following questions.

Q.1  Why did the newspapers never print a picture of Natty Nat?
Ans.

Q.2 What was the problem that zoo was facing?
Ans.

Q.3  What did the children have to do to climb someone else’s tree?

Ans.
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Q.4 What task did the emperor give to Raman?
Ans.

VII Twisted Question.
(a) State whether ‘True’ or ‘False’.

I Totto Chan wanted to help her friend Yasuaki Chan.
2, The Eiffel Tower is located in Paris.

(b) One words substitution.

| A ladder which has a top to sit on.

2 A person who rules the kingdom.

VIII Vocabulary :

I slippery :
2. objected :
3 sensible :
4. naughty :

IX  Give one synonym each for the following words:

i mystery : 2 delicious

X Give one antonym each for the following words:

1. fairly : 2. die
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